Die Reihen 6, 7, 8 und 9 iben [1]

Das kleine Einmaleins

13 e9= ()5 () 9 () 22 () 18
) 8 «F= () 4 () F () 3% () 56
510 e8= () F2 () 40 () 80 () 24
L3 eg= () 40 () 64 () 48 () 24
5. 9 eg8= () 48 () 56 () T2 () 64
b6 9 e9= () 9 () T2 () 36 () 8
79 e6= () 60 () 42 () 54 () 36
Aufgabe 2

I 4 9= ()5 () 9 () 36 () 63
2 10 .9= () 9 () 8 () 36 () 45
309 e6= () 54 () 18 () 12 () 6
4L 5 eg= () 4 () 8 () 24 () 16
5 6 e9= () 63 () 4 () 5 () 90
610 e 6= () 12 () 60 () 18 () 6
72 e6= () 12 () 36 ()5 () 6
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Die Reihen 6, 7, 8 und 9 iben [1] | ANTWORTEN

Das kleine Einmaleins

1. 3 e9= () 5 o9 ‘EO%
2 8°7=O49 O 7 (::)35
3. 10 e 8= () 72 () 40 m () 24
A 3 «8= () 40 () 64 () 48
59 eg- () 48 () 56 O 64
6 9 e9= () 90 ) 72 ) 36
7 9 e« 6= () 60 () 42 036

Aufgabe 2

1. 4 e9= () 5 9 () 63
2. 10 «9 =@ 90 81 ) 36 () 45
3. 9 «6=|@ 54 18 12 6
A 5 «8=|@ 40 ) 8 ) 24 () 16
5 6 9= () 6 () 45 o 90
6. 10 « 6= () 12 ) 18 6
7 2 e 4 = E ) 36 ) 54 6
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